  I am planning my second trip to Sweden. Of course, I had read about the country and one article stated the average woman there is 69 inches tall with a standard deviation of 2 inches. What do you think the probability is the first woman I meet is taller than 70 inches? During my last trip there, I met 4 women and the average height of all 4 women was 71 inches. Using .05 significance level, should I agree with the findings in the scientific journal or should I dispute it?

Answer:

Let X denotes the height of woman in Sweden

Standardizing the variable using 
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 and from normal tables

P(X>70) = 
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Here the t test can be applied to check whether the average height of 4 women is significantly deviated from the scientific journal claim. The null hypothesis tested is

H0: Scientific journals claim is true

H1: Scientific journals claim is false and average height is greater than 69 inches

Test statistic used 
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Rejection criteria: Reject the null hypothesis if the calculated value of t is greater than the critical value of t with 3 d.f

Details:

Test statistic t = 2

Critical value = 2.35

Since the calculated value is less than the critical value the scientific journal claim can be accepted.

Conclusion: There is no meaning in challenging the scientific journal claim.

_1220709482.unknown

_1220709695.unknown

_1220709347.unknown

